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1  Write the missing number to make this division correct.

75 ÷  = 7.5 
1 mark

4F9  Dividing by 10

KS2 item template version 2

M005822  –  26 October 2016 12:13 PM – Version 2

2  A group of friends earns £80 by washing cars. 
 
 They share the money equally. 
 
 They get £16 each. 
 
 How many friends are in the group?  

1 mark

KS2 item template version 2

M005808  –  26 October 2016 12:15 PM – Version 13C8  Car wash

F00080A0424

[1 mark]

1
1

[2017]

Each card on the left matches one on the right.

Draw lines to match the cards which are equal in value.

One has been done for you.

3 x 6 2 x 25

10 x 5 9 x 2

5 x 8 50 x 2

9 x 10 3 x 30

5 x 20 10 x 4

1

1

2 marks

1

[2 marks]

2
2

[2000]
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04 1

A
6.7 6.8 6.9

What number is marked at A?

 

 

 

  
 

1

M0423  Num           N2i L3  

1

1 mark
 

M0423_2  –  15 October 2012 1:21 PM – Version 2

 1

At a tournament there are 7 players in each team.

There are 112 players altogether.

2

M0703          Num           N3a L3  

How many teams is this?

  
2

1 mark

M0703_2  –  5 December 2012 1:55 PM – Version 2

[1 mark]

3
3

[2013]
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 Here are six cards.

× 10 × 100 × 1000

÷ 10 ÷ 100 ÷ 1000

Use a card to complete each calculation.

5.3 = 0.53

5.3 = 5300

5.3 = 0.053

 

2 marks

 

6

2 marks

M004002_picard  –  20 February 2015 12:06 PM – Version 2

KS2 item template version 1.1

5C6b

S00070A0824

[2 marks]

4
4

[2016S]



 4

Put these times in order, starting with the shortest.

5 minutes

20 seconds

1 minute

100 seconds

shortest  

1

1 mark

1

Join each box to the correct number.

One has been done for you.

30

32

44

49

6 × 5

half of 98

double 4 × 4

  

2

1 mark

2

TestA.indd   4TestA.indd   4 15/11/2007   15:59:1315/11/2007   15:59:13

[1 mark]

5
5

[2008]

4

Draw lines to join the circle to two more number cards
which make 150

1

2 marks

1

Write in the missing numbers.

5 t 70 =

4 t = 200

2

2b

1 mark

2a

1 mark

[2 marks]

6
6

[2002]

Total

Liam has two rectangular tiles like this.

He makes this L shape.

What is the perimeter of Liam’s L shape?

Circle two different numbers which multiply together to
make 1 million.

10 100 1000 10000 100000

18

18

1 mark

19

cm 19

1 mark

14

[1 mark]

7
7

[2000]
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 Circle the number that is 10 times greater than  
nine hundred and seven.  

 
 

9,700  907  9,007  970  9,070

2

1 mark

Write the missing numbers to make this multiplication grid correct.

54639

×

4856

 

3

1 mark

F00070A0524

[1 mark]

8
8

[2017]
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 Circle the number that is 10 times greater than  
nine hundred and seven.  

 
 

9,700  907  9,007  970  9,070

2

1 mark

Write the missing numbers to make this multiplication grid correct.

54639

×

4856

 

3

1 mark

F00070A0524

[1 mark]

9
9

[2017]

06 10

Circle the number that is closest to 300

 338   3030   288   313   130  

3

M01010 closely observed Num N2c3 L3 non-calc

3

1 mark

M01010_2  –  15 October 2012 11:31 AM – Version 1

 21

The number 20 goes in two of the squares of this multiplication grid. 

Tick ( ) the two squares where 20 goes.

× 1 2 3 4 5

1

2

3

4

5
 

4

M01021 multsquare Num N3f L3 non-calc

4

1 mark

M01021_2  –  15 October 2012 11:34 AM – Version 1

[1 mark]

10
10

[2013]
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24 white
balloons

12 red
balloons

24 12
 

 Adam buys 6 bags of white balloons.  
 
 Chen buys 3 bags of red balloons. 

 Adam says,

‘I have four times as many balloons as Chen.’ 

Explain why Adam is correct.

1 mark

4C8  blowup

12

KS2 item template version 1.2

M004685  –  26 October 2016 12:41 PM – Version 5

F00080A01224

11

[1 mark]

Note that these questions are sorted in date order (most recent questions first).

May 2017, 3 Q12:  1 Marks[2017]
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11

[1 mark]

Note that these questions are sorted in date order (most recent questions first).

May 2017, 3 Q12:  1 Marks[2017]

[1 mark]

11
11

[2017]
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Calculate the size of angles a and b in this diagram.

ba160˚

Not
to
scale

 
a = °

 
b = °

17

1 mark
 

1 mark
M004040

M004040_scissorhands  –  7 January 2016 1:54 PM – Version 6

KS2 item template version 1.1

6G4b 6G4a

18 Write the missing number.

70 ÷ = 3.5
1 mark
M003220

M003220_Divide  –  1 October 2015 12:41 PM – Version 3

KS2 item template version 1.1

6C8

E00070A01924

[1 mark]

12
12

[2016]
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 Chen uses these digit cards.

5

   

6

   

9

 She makes a 2-digit number and a 1-digit number. 
 
 She multiplies them together. 
 
 Her answer is a multiple of 10

What could Chen’s multiplication be?

  

×

3

1 mark

KS2 item template version 2

M005655  –  26 October 2016 12:17 PM – Version 54C8  multest

F00080A0524

[1 mark]

13
13

[2017]
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Write the three missing numbers in this multiplication grid.

× 8 5

4 20 28

5 40 35

3 24 15 21

 

5

M01516_timesgrid Num N3f N3a1 L3

5i

5ii

2 marks

M01516  –  3 October 2013 12:57 PM – Version 2

[2 marks]

14
14

[2014]



 7 Total out of 6

Write these times in order, starting with the shortest.

 
24 days 10 weeks

1 month 48 hours

shortest

 

5

1 mark

 

5

In this diagram the rule is

‘to make the number in a triangle,  
multiply the numbers in the two squares above it’.

Write in the three missing numbers.

6 3 8 10

18 32

 6i

6ii

2 marks

6

[1 mark]

15
15

[2010]
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In the circles, write a multiple that belongs to each set.
 
 One has been done for you. 
 

multiple of 20
numbers from 101 to 199

multiple of 30
numbers from 201 to 299

multiple of 40
numbers from 301 to 399

multiple of 10
numbers from 1 to 99 50

 

2 marks

 

7

2 marks

M003196_multibuy  –  20 February 2015 10:48 AM – Version 3

KS2 item template version 1.1

5C5a

S00060A0924

[1 mark]

16
16

[2016S]



8

Here are five digit cards.

Use all five digit cards to make this correct.

{ 2 =

85410

7

!7

1 mark

Here are seven shapes.

Write the letters of the two shapes which are pentagons.

and

8

!8

1 mark

[2 marks]

17
17

[2004]

09  5

Books are 25p each at a car boot sale.

Alfie wants to buy 12 books.

He only has £2.35

How much more money does Alfie need?

Show 
your 

method

7

M01005 buybook Num N4a L3 calc

7i

7ii

2 marks

M01005_2  –  10 March 2012 7:45 AM – Version 1

 1

 
                         ÷ 11 = 17

8

M0606   Num           N3a L4  

Write the missing number.

8

1 mark

(C)

M0606_2  –  5 December 2012 2:15 PM – Version 3

Total out of 5

[1 mark]

18
18

[2013]

13

cm

Millie has some star-shaped tiles.

Each edge of a tile is 5 centimetres long.

She puts two tiles together to make this shape.

Work out the perimeter of Millie’s shape.

15

Not actual size

Write in the missing numbers in this multiplication grid.14

!14ii

2 marks

!14i

Total out of 4

!15

1 mark

[1 mark]

19
19

[2004]



Put a tick (✓) in each row to complete this table.

One has been done for you.

Write in the missing digits to make this correct.

4

   6  

2 0 5    2  

t

9

9b

1 mark

9a

1 mark

8

greater than less than

0.9 ✓

0.06

0.21 8

2 marks

11
20

1
2

1
2

6

[1 mark]

20
20

[2001]
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Circle two numbers that multiply together to equal 1 million.
 
 

200   2,000   5,000   50,000

19

1 mark
M003234

M003234_millionista  –  6 October 2015 1:05 PM – Version 2

KS2 item template version 1.1

6N6 6C8

  Lara had some money. 
 
She spent £1.25 on a drink. 
 
She spent £1.60 on a sandwich. 
 
She has three-quarters of her money left. 
 

How much money did Lara have to start with?

Show 
your 

method

£

20

2 marks
M003213

M003213_spender  –  1 October 2015 1:09 PM – Version 3

KS2 item template version 1.1

5f10 5M9a

E00080A02124

[1 mark]

21
21

[2016]

 19 Total out of 5

Here are five number cards.

0.47
  

10
  

100
  

1000
  

4.07

Use four of the cards to complete these calculations.

47  ÷  = 

 ×  = 40.7
  

20

1 mark

20

Calculate 544 ÷ 32

Show 
your 

working

21i

21ii

2 marks

21

[2 marks]

22
22

[2011]



 14

  

2 4 6 8

Use all four digit cards to make this number sentence correct.

× > 5000
 

12

1 mark

12

Liam thinks of a number.

He divides it by 9 and then adds 25 to the result.

His answer is 36

What number did Liam start with?

13i

13ii

2 marks

13

[1 mark]

23
23

[2010]

16

Write in the two missing digits.

0 t 0 = 3 0 0 0 19

1 mark

19

A sequence starts at 500 and 80 is subtracted each time.

500 420 340 ...

The sequence continues in the same way.

Write the first two numbers in the sequence which are 
less than zero.

20

20

2 marks

[1 mark]

24
24

[2002]
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Write the two missing digits to make this long multiplication correct.

4

× 6

2 4 6

8 2 0

1 0 6 6

 

2 marks

 

10

2 marks

M004370_New years day  –  9 June 2015 3:13 PM – Version 4

KS2 item template version 1.1

5C7a

S00060A1224

[1 mark]

25
25

[2016S]



12 1

 

Number
Rounded to the 

nearest whole number

5.05

5.55

4.45

4.54

 

 

  
 

11

M0075  Num           N2j1 L4  

Write in the missing numbers.

11i

11ii

2 marks

M0075_2  –  29 October 2012 2:31 PM – Version 1

 1

Complete these calculations. 

15 × 100 =

× 10 = 1500

÷ 100 = 150

150 ÷ 10 =

   
 

12

M0126  Num           N2c2 L4  

12i

12ii

2 marks

M0126_2  –  29 October 2012 2:31 PM – Version 1

[2 marks]

26
26

[2013]

Total

The shaded triangle is a reflection of the white triangle
in the mirror line.

Write the co-ordinates of point A and point B.

( , ) 22a

1 mark

B is

22

22b

1 mark

( , )A is

23

23

1 mark

16

Leila knows that

65 x 3 = 195

Explain how she can use this information to find the
answer to this multiplication:

165 x 3

[1 mark]

27
27

[2000]
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Here are five number cards.

48
  

49
  

50
  

51
  

52

Use each card once to make every statement below correct.

 is a multiple of 3

 is a multiple of 4

 is a multiple of 5

 is a multiple of 6

 is a multiple of 7  

13i

13ii

2 marks

13

M003532_multipurpose Num N2b7 N1b L4 UAM

M003532  –  14 August 2014 10:01 AM – Version 2

D00070A01424

[2 marks]

28
28

[2015]

Sourced from SATs-Papers.co.uk https://www.SATs-Papers.co.uk

[1 mark]

29
29

[2012]



12

Karen makes a fraction using two number cards.

She says,

‘My fraction is equivalent to

One of the number cards is 6’

What could Karen’s fraction be?

Give both possible answers.

1
2

?

or

?

12

Write what the three missing digits could be in 
this calculation.

t = 3 7 8

13

12ii

2 marks

12i

13

1 mark

[1 mark]

30
30

[2003]

14

Use the digits 2, 3 and 4 once to make the multiplication
which has the greatest product.

{

14

kg

This scale shows the weight of Fred’s cat.

What is the weight of Fred’s cat?

This scale shows the weight of Fred’s dog.

How much more does Fred’s dog weigh than his cat?

kg

15

!14

1 mark

!15a

1 mark

!15b

1 mark

[1 mark]

31
31

[2004]

Page 16 of 24  18

16

M01050 remaindered Num N3b1 N3a1 L4

Write the missing number in each calculation.

 
25 ÷ = 3 remainder 4  

16a

1 mark

 
35 ÷ = 4 remainder 3  

16b

1 mark

M003521  –  14 August 2014 10:11 AM – Version 2

D00070A01624

[1 mark]

32
32

[2015]

 16

Here are four masses.

 

2  
kilograms

1  
tonne

800  
grams

1
2

kilogram

Write the masses in order, starting with the lightest.

lightest

  

16

1 mark

16

Two 2-digit numbers multiply to make 176

Write the two missing numbers.

 
× = 176

 
17

1 mark

17

2M008_V01_KS2MathsTestB_05012011.indd   16 23/12/2010   16:05

[1 mark]

33
33

[2011]



18 22

Write the two missing digits in this multiplication.

  
9 × 9 = 2001

  

18

M01082 spaceman A Num N3k2 N1e L5 calc UAM

18

1 mark

M01082_2  –  15 October 2012 3:29 PM – Version 2

 13

Here is a shaded shape drawn on a square grid.

The shape is rotated 180º about point A.

Draw the shape in its new position on the grid.

  

A

  

19

M01132 your turn SSM SSM3b1 L5

19i

19ii

2 marks

M01132_2  –  14 January 2013 5:12 PM – Version 1

[1 mark]

34
34

[2013]

 17 Total out of 3

Dev says,

‘When you halve any number that ends in 8  
the answer always ends in 4’.

Is he correct? 
Circle Yes or No.

 
Yes / No

Explain how you know.

18

1 mark

18

2M008_V01_KS2MathsTestB_05012011.indd   17 23/12/2010   16:05

[1 mark]

35
35

[2011]

 19 Total out of 4

Write the missing number to make this calculation correct.

11 ×  = 1111
  

23

1 mark

23

Here is a quadrilateral on a square grid.

The quadrilateral is translated so that point A moves to point B.

Draw the quadrilateral in its new position.

Use a ruler.

B

A

24

24

1 mark

[1 mark]

36
36

[2010]



Nisha says,

‘When you halve any even number, 
the answer is always an odd number’. 

Is she correct?
Circle Yes or No.

 
Yes / No

Explain how you know.

8

1 mark

  

8

 11 Total out of 3

TestB.indd   11TestB.indd   11 15/11/2007   15:57:3815/11/2007   15:57:38

[1 mark]

37
37

[2008]

Page 23 of 24 M01547_primark Num N2b6 L5

Fill in the three missing whole numbers in this calculation.

Each number is less than 10

 
× × = 105

 
23

1 mark

23

M01547  –  3 October 2013 2:41 PM – Version 2

Total out of 3 

[1 mark]

38
38

[2014]
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11   A toy shop orders 11 boxes of marbles. 
 
Each box contains 6 bags of marbles. 
 
Each bag contains 45 marbles.

How many marbles does the shop order in total?

Show 
your 

method

marbles

2 marks
M005160

E00080A01424

[2 marks]

39
39

[2016]
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1 mark
M003683

M003683  –  6 October 2015 1:07 PM – Version 3

21 5,542  ÷  17  =  326

Explain how you can use this fact to find the answer to 18 × 326

KS2 item template version 1.1

E00080A02224

[1 mark]

40
40

[2016]


